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But if that is so, by a Gentile where a Jew is standing, etc.

Overview

1" explained that a \"wr can write a maw? i if there is a 123 H¥ 72w 7173, On this 1"
asked, in that case (that there is a 2"¥¥3) a »121 should also be w>. It is apparent that
$'1"7 question is on 71" who established the 71wn by a 2"yvi. Our mdoIN explains why
there is not a question on the 71wn directly, regardless whether there is a 3"¥¥3 or not.
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The explanation of 1"7 saying 7nvn XX, is that granted if our 71wn is in a case

where there is no »''yy it is understood why a >151is not included with the 1"wn -
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For 1''7 assumes that we can recognize that the 1'wn are writing 72w», based
on the husband’s instructions -
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However by a 31 there is no such indication that he is writing 72w> based on

these same circumstances -
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However according to the way 7" established the 71wn by a »"'y¥3 and giving
them instructions, and being ‘on top of them’ to make sure they are writing it

properly w5, so even a 121 should also be 7w3, since we can see that he is following the
instructions (of 72W?) -
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Rather (in order to avoid this difficulty) we must conclude that the mwn is
certainly in a case where there is no 3"'yys,’ if so then the initial difficulty
returns, how can this be a 2w> vi by a 1"vn, since they are not intelligent!

Summary
Without 7"7 we could have established the 71wn by 3"v¥a PX and distinguished

between a °121 and aY'wn.

" See the ‘Overview’ that maon is bothered why there is no question on the fawn directly (even) without 7".
* A1"wn do not normally write anything (meaningful) on their own; the fact they are writing this v indicates to us
that they are writing in accordance with the husband’s instructions (including 7nw%). However a >131 always writes;
the fact that he is writing the v does not indicate at all that he is following the instructions of the 7¥a. Therefore he
is not 7> and is not included in the 71wn.
? See “Thinking it over’ # 2.
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Thinking it over
1. From mooin it seems that s'1"7 question is that the Y'wn are %1 7v°7 %12 RY.

However the reading of the X723 (both in the question and answer) indicates that
s'1"9 question was why is the 9109 >121 (and not why is the w5 1"wr)!

2. Why was it necessary for moon to add the last line (3721 191 °®71 ®9%);* without
that line, 1"7 has a valid question on 73"7; why is a 121 different from a Y"'wn in a
case of 3"yya?’

3. How can mo0n add the last line, since according to 1"7 even if there is no 3"yv3,
it is understood why a Y'wn is “w>, and a 721 is 709, as MooIN explained
previously?!°

Appendix
Perhaps we can understand this mdo1n as follows. 7"7 claims that the mwn is only

in a case where there is a 3"vy3. Otherwise a 1"wr is 7109,

1"7 challenges this assumption of 7"7 and argues that in my opinion there is no
need to establish the 71wn by a 3"y¥3, and we can distinguish between a 1'wn and a
2.

However, according to you (77"7) that the only time a Y'wn is w2 is if 2"vyi then a
131 should also be 7w2. However since we see that a "21 is not included in the
71wn, this proves that we cannot be discussing 3"vy3.°

We must therefore conclude that we are discussing a case where there is no 1"yv3,
so the question on X117 27 is (if we accept the understanding of 77" that by 2"vy3 PX
it cannot be 7nw?), how can we understand our 71wn that a Y'wn is w>.’

The X723 concluded that the premise of 1"7 1s flawed, since Xp W17 7 NYIX 21
792y, therefore even with a A"vva he is 7108.

* See footnote # 3.

> See ‘Appendix’.

% See 121 0" and mwn noma. See also ‘Appendix’.

7 See footnote # 2.

¥ oo maintains that according to 1" if there is a 3"y¥ it must be 73 even by a *121. This idea is immutable. It is
the foundation of s'1"7 challenge. He is convinced that i7" agrees to it.

? If we accept the premise of 1" (that a 121 is 7w by 3"v¥3) and the premise of 7" (that a Y'wn is w3 only if 2"yy3);
our 711wn is not understood. Therefore argues 1"1, we must do away with the premise of 7"7 and accept my premise.
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